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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five of the following questions: 2x5=10
st @@ el amiE Ted s ¢

(a) Write down the equation of the saving function if the consumption function is given by
C =200 + 0-8Y.

ot SeS I C = 200 + 0-8Y T, OGF AT SCoRHEE Tl @l |
(b) Suppose C =400+ EY and I = 1000. What is the value of AY if I rises to 20007
4

3
@l T, C=400+Y @3 1= 1000 | W 1 3% I 2000 70, S AY-9F W F 7

(¢) Define aggregate demand. Write down the components of aggregate demand.
G vifew wicel wie | (6 bifenld Somaeie @ |

(d) Mention the different components of money supply.
wda @islieTa fifen Semmafa S s |

(¢) What is meant by money multiplier?
LR QT IO F @RI 2

(f) How will a decrease in taxes affect the level of income in the IS-LM model?
T A (T IS-LM (S (G SITBCET ©9F Jf 2SI et ?

(g) What is money illusion?
Money illusion 9t SR F?

(h) What do you mean by stagflation?
froerife qece S @I ?

2. Answer any four questions: 5%x4=20
G-I BIRfe A0EE Ted WS ¢

(a) State and explain the properties of Keynesian consumption function.

@A (19l St (ARl Rys e i @
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(b) Explain the concept of Paradox of Thrift with the help of suitable diagram.
Toe foaurz fearfter ietre Reaifte grenf = s

(¢) Briefly discuss the Keynesian theory of investment multiplier.
&R R wos ol AT SeeTvel e |

(d) Discuss the credit creation process of commercial banks.

Tlfdfers wikralr 4o BT el wiesal |

(e) Using the ISLM framework analyse the affects of an increase in money supply on the equilibrium
values of level of income and rate of interest in a closed economy.

3 7 SLGET ISLM N0 (09 SIEES 8 ArE QS Sofd wedq @ioe IEe ol S
FCAl |

(f) What is meant by wage rigidity? Explain the Keynesian view of labour supply function. 1+4=5
TGRA QAEHT AT S F @RI ? R Q@M SAFF A (Feiy yioen) Wiy F |

3. Answer any one question: 10x1=10
F-H G0 2R T WS ¢

(a) Explain with suitable diagram how the equilibrium level of income is determined in the simple

Keynesian Model. State the stability condition of equilibrium in this model. 8+2=10

@9@@ DI AT (A WO SIS Sher WY Freid Wdifae =7 it et | @3 e
e e *$ [ge |

(b) What is Real Balance Effect? Analyse how price flexibility can bring about full employment through

the Real Balance Effect. 2+8=10
2FC T 2T F1? T OISO 24F© A 2SI Mg 24+ feieem w9 wiaes sia—
e e
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Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five questions: 2x5=10
- Al 2Ta TeR WS ¢

(a) What is an open economy?
& 9 97 FF A2

(b) What is meant by protection in international trade?
TeEifes fdces At Iece F @R

(c) Make a distinction between Private Goods and Public Goods.
afEore 77 @ olwears Wi SISy o FT |

(d) What is shifting of a Tax?
4 DleT FICF A2

(e) Define IS curve.
IS CI¥I9 iges] mie |

(f) Mention the name of one direct tax and one indirect tax.
G0 2T I ¢ G0 AT FEA W @ Tl |

(g) Define aggregate demand.
T(Bore BiRwR FKes! wie |

(h) What do you mean by “Terms of Trade’?
Fifey *1$ TETCE N @RI ?

2. Answer any four questions: 5%x4=20
G BT 2R TR WIS ¢

(a) Explain the slopes of IS and LM curves using diagrams. What do points off the curves imply?  4+1=5
IS @ LM @iesfers oie foapreaaist it et | @3 @il it wrafgs maf St oM e

(b) What is meant by free trade? State the major arguments for and against free trade. 1+4=5
TRy fey Tece N @RI S[y difidcera ot ¢ [Riew g I Sme @t
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(¢) What is a Central Bank? Briefly discuss the functions of Central Bank of a country. 1+4=5
FEE TJRF FICF A2 GF0 GO @ TREEE FI Feweo! S Fet |

(d) Briefly discuss the benefit Principle of Taxation. Mention two limitations of this Principle.  4+1=5
I W@ w0 SoHAFR A AR T ewest wweEm et @2 Gifew uft @b Sme @t

(¢) What is Progressive Tax? Discuss the advantages and disadvantages of Progressive Tax

System. 1+4=5
Ao oiler T gl Sir AofSiie 9 TER AR ¢ PRl SEmar St
(f) What are the characteristics of public goods? 5
selmra ARt F Fe
3. Answer any one question: 10x1=10

T GF0 A48T TEq WS ¢

(a) Distinguish between internal and external public debt. Elucidate the burden of internal and external
public debt on an economy. 2+8=10
wrergAr @ e ARSI A ey <A1y o T | 3 L T et ¢ AR Tweify
e O A @RI A e |

(b) Explain the process of credit creation by commercial banks. Mention two limitations of this process

of credit creation by commercial banks. 8+2=10
ifefers TiFelr wd fRw e T e s Trs T e qfRe 2 e gb Sk
Teard A |
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Candidates are required to give their answers in their own words
as far as practicable.

1. Answer any five questions: 2x5=10
-] Ao 2iva Te WS ¢
(a) What is induced investment?
sfrefifre &fecaer e
(b) Why is beggar’s income not included in national income?
o fodifae iR e o [ ol =69 Al
(c) Define GNP Deflator.
GNP Deflator-43 A WG |
(d) What is inflationary gap?
YRR FE 2
(¢) What is speculative demand for money?
w7 FoFEe vin Fi
(f) Show that MPC + MPS = 1.
@8 @, MPC + MPS = 1.
(g) What is investment multiplier?
R g T @
(h) What do you understand by Phillips Curve?
Phillips Curve I510S JI GG 2

2. Answer any four: 5%x4=20
I BIFoT TEh IS ¢

(a) “Supply creates its own demand”. Explain.

“Q@ielie e e vifew Feee 7B w1 iR e |
(b) Discuss the causes of inflation.

TPFITed TBERE FR SEnl 1 |
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(¢) Explain the relationship between MEC (Marginal Efficiency of Capital) and interest rate with a
suitable diagram.

Toige b9 MeFIE e ST wwel 8 qWE YRR AF [ FET |
(d) Discuss the functions of money.
oelq AR D T

(¢) What is National Income? Explain any one method for the measurement of GNP (Gross National

Product). 1+4=5
SIeRl O F 72 GNP-7 ARNiteR @@ 9F0 @lo 10 |
(f) What is the Paradox of Thrift? Explain such paradoxical result. 2+3=5

reafrer wiete-faiy Fre G3mel Sistre-[eaid woes i e |

3. Answer any one: 10x1=10
G- ST TEH WG ¢

(a) Explain critically Fisher’s version of Quantity theory of money.
FACEAGITE, fRelicaa ods sAfdsie wef it e

(b) Distinguish between cost-push inflation and demand-pull inflation. Discuss the various effects of
inflation in an economy. 3+7=10

TR-Ifaeie @S ¢ viftn-giaetrs J@rHifon s A @ | w6qifsce qmrafes [y e
Riffresita Setsa 6t |
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1. Answer any five questions: 2x5=10
-l #5le 2o TeR Me

(a) Mention the relationship between AR, MR and price elasticity of demand.
AR, MR ¢ 7% ffogiowelq sug T el |

(b) Explain the law of diminishing returns.
FagPTIe Sesive ffw it wie |

(¢) Write down the profit maximising condition of a competitive firm.
o efsrifirenes el FeR e AHRFIER T [ [0S A7 T e ?

(d) What is Supply Curve under perfectly competitive market?
51 aAfSaterergE e @elm @ e

(¢) What are the parameters of CES production function? What do these indicate?
CES Sesiive sesimeaa Afiamafs (Parameters) 1 12 wofer § Mo a2

(f) Define elasticity of factor substitution. What will be the value of elasticity of factor substitution in
case of a kinked isoquant?
TeAMETa Sotmites @IffqeoE Rfegvivolr wcel nie | dege Amiestve @R (Fa Some Afiaden
RfsgeTor IW F9 292

(2) How do you define consumer’s surplus?
CSIRFAI Tgers i Feid AeEiRe e ?

(h) Write the expression of product exhaustion theorem in terms of Euler’s Theorem.
7y Werifee zewd ©red 499 Euler’s Theorem @4 A0iHe 367 @12 |

2. Answer any four questions: 5%x4=20
GBI 40T TEd W

(a) Write down the Cobb-Douglas production function. Discuss any two properties of Cobb-Douglas
production function. 1+4=5

TG TRAM ST (IR | G- SRR @G 6 (@ i el |
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(b) Mathematically derive the relationship between AC and MC. Show the relationship in a
graph. 4+1=5
T W ¢ ST e TED aififeFea i T T foraw AmE @ie |

(¢) Explain both diagrammatically and mathematically the laws of returns to scale.

TeoAmeTa WAl AffSaete adfeniers frmef foraa e aak sifdfssei = F@T )

(d) What is Price Consumption Curve? What is Income Consumption Curve? Analyse their nature when
one of the two commodities is Giffen commodity. 1+143=5
v celol @l [ OF (ol @ e @3 @9 qioa oFfe Rewd s 72w v weww Wiy 9
o 7= |

(e) Explain the shape of average fixed cost curve of a firm. Does this curve exist in the long run?
4+1=5

N a9 @R WSS T @ ATHE F 9 @i oy A

(f) What is expansion path of a firm? How will you derive cost function from the firm’s expansion
path? 1+4=5
3 TG 20T S I @2 FOE QN TG 20F 21 (AT T WS [ T e

3. Answer any one of the following questions: 10x1=10
T G- IFHT AT TED WS ¢

(a) Distinguish between cost function and cost equation. Show that LAC is the envelope of SACs. Using
this tool show that LMC is not the envelope of SMCS. 2+8=10

T IOFF @R T ANSACEE T AL | (RIS (@, AR ST T @R FEFEAT AT T
@Al wEd (envelope) | @8 49eiiba AR @mHie @, A e T @ FEFES AfET
T @l wREa T9|

(b) What do you mean by indifference curve? Show that Price Effect of Price Change is the algebric
summation of substitution effect of price change and income effect of price change in terms of Slutsky
equation. 1+9=10
fRcsrFel @9l T S QIR FTARE AR AR @S @, wiN AR Wi 2@k (PEPC)
ze +ff9S #o (SEPC) @38 O &Sl (IEPC)-93 Jrersifdfes caiafzee |
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